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A

Total Syntheses of Hamigeran A&B

E

1) 2 eq. tBuLi, TMEDA

then 1

2) p-TsOH
B

1

C

11) OsO4, NMO
12) 2-methoxypropene,
PPTS

13) DMP

Hamigeran A
C20H25BrO5

7) NaH, 2

D
3.5 : 1 E:Z ratio

I
3.5 : 1 cis : trans ratio

J

10a) h

C6H6

2

OMe

Me

NHtBu

O
3) LAH
4) 1 eq. TBSCl

5) MOMCl
6) 10 mol-% Pd(OAc)2,

2 eq. CuOAc)2, H2O

O

OMe

O

(MeO)2P

O

8) HF*py
9) SO3*py, DMSOS = 1S = 3

10b) 1% HCl

in MeOH
14) DBU

15) iPrMgCl, CeCl3
16) SOCl2, lutidine

17) BH3*Me2S

then H2O2, NaOH

18) PhOC(S)Cl

19) nBu3SnH, AIBN

20) 1 M HCl(aq)
21) PDC

22) BBr3

23) NBS, iPr2NH

OH

Me

O

10

5

H

Me

OBr

24) Ba(OH)2,

air

Hamigeran B

K
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G
* state

H
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F
n * state
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Please provide a plausible mechanism for the following transformation:

h PhMe

15% yield
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